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1. vsat

IREREH: BT = 500
EADHYAX: n = 427
BEHHSE: t(426) = (501.803 - 500)/4.41901 = 0.408073

Wil pfE = 0.6834
(Ffll = 0.3417)
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msat

JRigRER: BT = 500

BEDOHAX: n = 427

BAFY = 566.323, 1ZHERFE = 93.1192

BREMETE: t(426) = (566.323 - 500)/4.50636 = 14.7177
mfll p & = 6.201e-040
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2. vsat
IREERER: B9HE = 10000

EXDHYAX: n = 427
EAXDE = 8338.29

BEBSTE: hA "% (426) = 426 * 8338.29/10000 = 355.211

mfllpfE = 0.01074
(K8l = 0.005369)
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msat

EADHYAX: n = 427
1ZEAXRDE = 8671.19

BREHHE: D15 (426) = 426 * 8671.19/10000 = 369.393

mfll p & = 0.04449
(Bl = 0.02224)
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3. vsat—msat

EADHYAX: n = 427

EARTY = -64.5199, 1BHFE = 99.3308

RERE:
MWl pfE = 1.667e-034
(KAl = 8.335e-035)

t(426) = (-64.5199 - 0)/4.80696 = -13.4222

Frfll p fH=.05 & D HEKAEE 5 % T Hp : poy — i = 0 13ZEAL
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